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 Multiple Labs 
 

Uncertainity in Lab Results 
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Inference: Using your 
observations to make a best 
guess about an object based on 
sound reasoning. 
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Pythagorean Theorem 
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Multiple Labs and 
Investigational 

Allowance 
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Appropriate Investigational Allowance 
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 Consensus Reports 

Another Yardstick 





Standard Deviation (sdev) & 
Standard Error (serr) 

sdev:   18.41  ±  1.75 

Acid-Soluble Iron in 160111 

serr:    18.41  ±  0.21 



Standard Deviation 

Dispersion of all results from 65 labs 



Standard Error 
Dispersion of means from multiple sets of 65 labs 



Standard Error 

Provides estimate of the “true” mean 



Standard Error 

Provides estimate of the “true” mean 

The higher the number of labs, the better the estimate. 

Standard error = robust mean /          n 




